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Intre fo Flynomials - (i!ﬁ//fd Like Terms

: aplity Lach LipreSsion, by ¢ olle fin ’q Like TFerms.

9.

0. X2 +3x% - 4x@ + 12x% - 7x* - 10x°

3x% + Bx + 7x2+ 6

11x - 2 + 4x% - Bx

8x2+x-13+6x2-3x-2

12 - 4x +5x2-x2-x-7

6x2 - 7 + 3x% + 10 - 4x?

_3x + Bx® - 6 + 9x - 14x°

Bx? + 12x-1-3x>+4x-15

05 + 4x - X2+ 4x3 + 11x% + 5% + X

17><2—11><-5><3+6—8><-13+2><2-><3

Evalliate, Lais) EKpreSSioy

1

2x%-6 ifx=3

b\/ Sl b sH it o .

4x%+ 32 ifx=4

3x°+4x-24 ifx=5

6x% - 40 if x= -4

5x?+3x+4 if x=-2

x2-Bx+6 ifx=-3

2x*+3x-7 ifx=4

4x*+ 6x-13 ifx=-5

x3-2x%+Bx-10 if x=-1

10, 2x3+4x%-6x+15 ifx=2

11.

3x3+ 6x2+x-20 if x=-3



Intre to Pplynomials - (olleet Like Terms m

AN

: nplfy Lach Lxpressien , by colledtn 9 Like Terms,

1 3+ Bx+ X2+ 6 ,OYZ*SIX'\’(D

2. 1ix-2+4x° - 5x L\,Y‘z +lox - 2

3. -8x+x-13+6x%-3x-2 ‘—;’,2)(2__;2")(_45

4, 12-4x+5x2-xP-x-7 L-\X;L,E')’)(-(—S_

5. 6x2-7+3x2 + 10 - 4x? 5)(':-!— 3

6. -3x+5x’- 6+ 9x - 14x° '9X3+‘0’X ~lo

7. 5x2+12x-1-3x°+4x-15 -’3)(3*5/)(&-\—]'.&_%’)(0

8. -Ox3+ 4x - X2+ 4x% + 11x? + 57 + x IO?(, 2.5 X

9. 17x% - 11x - x> + 6 - 8x - 13+ 2x% - X’ -—[p’XB ICix —-qu}("q'

0. -x +3x3 - 4x2 + 12x% - 7x° - 10%° —5 X

Evalliate, Laeh Bxpression by SU b strHrdd o .

1. 2x*-6 if x=3 ,9~

2. -4x%+32 ifx=4 '5Q~
3. 3x*+4x-24 ifx=5 ':l— '

4. 6x°-40 if x=-4 S-b
5. bx*+3x+4 if x=-2 )8
6. x°-Bx+6 if x=-3 50
7. -2x%+3x-7 ifx=4 'Q—q‘
8. 4x?+6x-13 ifx=-5 5 _4'

o x3-2x%+Bx-10 ifx=-1 ~| 6
10. 2x3+4x°-6x+15 ifx=2 55
11 3x%+6x2+x-20 if x=-3 _SO




Algebra Name

Date _ Period
Simplify each expression.
1) -5(-1 + 4x) — 8(4 - 8x) 2) 4(8x+1)—6(1 — 8x)
3) 2(2a +3) + 6(7 - 6a) 4) 3(n+5)—8(7 - 6n)
5) —6n(n—1)+5(1 —n) - 6) =2(-8+6x)—x(x+3)

1. 3a + 4a

2. —12b+ 6b—4b

5 3. 5a’—6a+7at+3a—2+8a+7

4 Ox® — 7x% +4x? — x + 4x3 —3x>
| 5. 2h? —7h +2h* —h+ 6+ 4h—9h
6. 4ab — 6ab + 3a?b + 4ab? + 5a’b
7. Txy — 4x2y? + 2xy? + 6xy + 3x2y? — 7x2%y?
8. 4h*j — 14h%2 + 16h%j% + 13h*j + 15h%j% — 17h%j
9. 8x3y?—7x2y +8x+4—6x3y 4+ 2x%y +4x’y—3x+5
10. 373t + 5rt? — 6rt + 5 + 4rt — 3 + 6rt?
11.8x% — 7x% + 4x* + 2y3 — 7xy + 3y3 + 12xy
12. 3a%b + 4a?b? — 7a®b + 2ab — 5a*b* +10a%b
13.5y5 + 4y* + 3y° —6y2 + 8—-7y* +11 - 6y°
14. 10c%d? + 6¢d® — 3¢%d + 5c2d? — 4cd? + 3c%d?
15. 4x3 + 3x%y + 2xy? — 6y% + 5x% — 25y + 3xy?
16. (322 + 2xy + 4y + (6x% — 5xy +3y?) + (9x* — 25y?%)
17. (4a® + 7a*b + 6b°) + (a® + 2ab + 4b°)
18. (2x2 —3x + 6) + (5x2— 9x + 4) + (8x% 4+ 12x)
19. 3x2—4x +7)+ Bx = 3x*) + (x = 7)

20. (12ab? — 7a?b) + (3ab + 4a’b + 6ab?)



21. Write an expression for the perimeter of the figure below.

2x+ 5

X /

6x— 17

22. Write an expression for the perimeter of the rectangle below.

6x+5

3x

23. Write an expression for the perimeter of the regular hexagon below.

4x

24. Write the expression for the perimeter of a rectangle with a length that is 5 inches
longer than its width.

25. Write the expression for the perimeter of a rectangle with a length that is 4
centimeters longer than three times its width. :



Algebra

Simplify each expression.

1) =5(~1 + 4x) — 8(4-— 8x)
3) 2(2a +3) + 6(7 - 6a)

5) —6n(n — 1)+ 5(1 - n)

= <

2) 4(8x+1)—-6(1 —8x)
4) =3(n+5)-8(7 - 6n)

6) —2(—8 + 6x) — x(x+3)

1. 3a + P

2. —12b+ 6b—4b

3 5a’—6a+7a*+3a—2+8a+7

4. 9x3—7x*+ 4x? — x + 4x* —3x2

5. 2h* —=7h+2h* —h+ 6+ 4h—9h

6. 4ab — 6ab + 3a?b + 4ab? + 5a*b LN+ Mab
7. Txy — 4x2y? + 2xy® + 6xy + 3x%y* — 7x%y?

8. 4h%j — 14h3;? + 16h?%j% + 13h%] + 15R°%j% — 17}1*';'. hH2

9. 8x%y?—7x2y48x+4— 6x°y? +2x%y +4x’y - 3'4. + 5
10. 373t + 5rt2 — 6rt+ 5+ 4rt—3+6rt’ 40, /) |
11, 8x% — 7x% + 4x* + 2y% — 7xy + 3y® + 122y ,
12. 3a%h + 4a?b? —7a°b + 2ab - 5a*b? + 102’ |
13.5y5 + 4yt + 3y — 6y> + 8—T7y0 + 11— 6y® '

14, 10c2d? + 6cd® — 3¢%d + 5c2d? — 4cd® +3¢°d* :

15. 4x % + 3x2y 4 2xy? — 6y° +5x3 — 25y + 3;.—;.:3'. ;R
16. (3x% + 2xy + 4y2) + (6x? — 5xy + 3y + (9x7 - 25y%) /,
17. (4a® + 7d?b + 6b%) + (@® + 2a%b + 4b%) '
18. (2x2 —3x 4+ 6) + (5x?— 9x + 4) + (8x* + 12x)

19. 3x2—4x+7)+ (Bx—3x*) + (x = 7)

20. (12ab? — 7a%b) + (3ab + 4a’b + 6ab?)



21. Write an expression for the perimeter of the figure below.

ST i G edeliod

\(/\\”)(L 3x+ 2

22. Write an expression for the perimeter of the rectangle below.

j(%(} + 2(@%*5>
[ox+ |10

SRS

6x+ 5

23. Write an expression for the perimeter of the regular hexagon belmy,.r——m\
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, 6 24. Write the expression for the perimeter of a rectangle with a Iength that is 5 inches —— |
W'f longer than its width. e, S,

25. Write the expression for the perimeter of a rectangle with a length that i Is 4
centimeters longer than three times its width.

]_HH# g A Q(W> + j / % N ] ;J,B
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